


TOSHIBA

Toshiba WAL14C Operation Manual

For Icd color tv toshiba wall mounting






O =1 N M < 1N © I~ 0
A NN < 0D O~ 00 A A A H A A



Bookmarks




Quick Links

Download this manual


https://capturecode.com/download/726961/Toshiba-Wal14c.html



https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=2#manual

gﬂeration Manual
For LCD Color TV

Toshiba W) SHIBA
Model

WAL14C

VX1A00189800



C100047_WAL14C_EN.indd

Table of Contents

Next Page


https://capturecode.com/manual/726961/Toshiba-Wal14c.html#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=2#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=2#manual

— N M << N



https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=2#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=2#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=3#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=4#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=5#manual

Related Manuals for Toshiba WAL14C

TV Mount Toshiba WAL7C User Manual
Wall mounting for lcd color tv (2 pages)

TV Mount Toshiba WAL13CS Operation Manual
Wall mounting for Icd color tv (13 pages)

Summary of Contents for Toshiba WAL14C

Page 1 Operation Manual For LCD Color TV Toshiba Wall Mounting Model WAL14C
VX1A00189800 C100047 WAL14C EN.indd 2010/12/15 13:33:59...

Page 2 For correct use, please read this manual carefully. This wall mounting is designed
exclusively for a Toshiba LCD color TV. Before use of this wall mounting, please confirm the
model of the LCD color TV applicable or not (see page 17).

Page 3: Notice For Safety

o Toshiba is not liable for incidental damages (such as profit loss or interruption in business, loss
of TV subscribing fee etc.) causedby use or being unable to use of the product.

Page 4 Notice for Safety continued # Notice for LCD color TV users Warning M Please ask
qualified installers to install or move the equipment to orfrom the wall. The application defect
could result in injury. If the equipment has to be dismantled for scrapping, etc. please also ask
qualified installersto do Direction Please contact the dealer for extension or modification of
cable wiring.

Page 5 m Do not install in vibrant places Vibration may lead to TV moving or toppling,
resulting in injury. Prohibition W It is designed exclusively for a Toshiba LCD TV. Do not use it
elsewhere. Otherwise may cause injury. Prohibition C100047_WAL14C EN.indd...

Page 6 Notice for Safety contiuned Warning M Tighten all screws properly at the TV bracket. If
the installation is improper, the TV may fall, resulting in death, injury, TV or floor damage etc.
Use of other screws may cause installation defect. Direction H...

Page 7: Preparation Before Installation

Preparation before installation (The operation must be done by qualified technicians) Bl The
operation of taking the TV out of the case or removing it from the stand shall be Cautions taken
by at least 2 people. Injury or pain may cause for operation by one people. @...

Page 8 Install the "TV fix bracket" to the TV set body @ The combination of the attachments
corresponding to the installation conditions of 46/55WL700E/T use the fixed strews from the
table for fixing. M8 Screw Hole TV fix bracket M6 Screw Hole M4 Screw Hole M6 Screw Hole M8
Screw Hole...

Page 9 Attach the speaker to the monitor by using the 6 mounting screws (M4x14) @ Use the
provided mounting screws to fix corresponding to a specific models. Please tighten the screws.
@ The fixing position differs for different models. 55X1000C fixed position of the screws
Installing screws of the speaker (M4x14) Connect the speaker with the monitor @...

Page 10 (2) Install the "TV fix bracket" to the TV set body @ Use the fi xed screws to install in
accordance with the above table Fixed screws M8 Screw Hole M6 Screw Hole M4 Screw Hole M6
Screw Hole M8 Screw Hole TV fix bracket M4 Screw Hole * 55X1000C...

Page 11 Assembling and Installation (Install wall-mounting metal fixture) Assembling the wall
bracket @ Use the fixed screws (M5x8) inside the supplied bag [] for assembling. Attach the


https://capturecode.com/manual/180818/Toshiba-Wal7c.html
https://capturecode.com/manual/579121/Toshiba-Wal13cs.html
https://capturecode.com/manual/726961/Toshiba-Wal14c.html#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=2#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=3#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=4#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=5#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=6#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=7#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=8#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=9#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=10#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=11#manual

"wall brackets" on both sides by using the supplied "metal connector" and make it fit with the
TV brackets installed in stepl-(2). @...

Page 12 Install the wall side metal mounting bracket to the wall @ When installing, please
use the eligible expansion screws or screws to ensure the support to the TV set and "wall
bracket" and keep both sides at the same level (not tilted) when installing to the wall. @...

Page 13 Set the installation angle of the TV set (1) When it is set vertical (0°) Fixed screws @
No angle adjustment is needed @ Loose the fixed strewing B by following the step of Fixed
screws 2- @. Fixed screws @...

Page 14 Hang TV fix brackets on the wall brackets. @ The operation must be done by more
than 2 people. (1) Follow the steps below to install @ Insert the "lower long screw hanging part"
of the "TV fix bracket" to the upper part of "long fixed screws for the TV set body"...

Page 15 Change of the angle @ If the change of the angle is required after the installation,
please consult the dealer or ask the qualified technicians to do it. Please take the TV set from
the wall bracket when changing the angle. The operation must be done by more than 2 people.

Page 16 Disassembly (The operation must be done by qualified technicians) The operation
must be done by more than 2 people. Remove the LCD TV set from the wall bracket (1) Put a
blanket on a flat place @ Please select the place to put the TV set in advance. (2) Pull out the
power plug from socket @...

Page 17 Dimension when the TV set is installed on the wall (unit: mm) WAL14C Models can
be installed with this product: 46/55WL700, 55WL800, 55X1000C, &, OTHER 42 in ~ 55 in model
Dimension of the wall bracket When the about distance is 400mm between screws of the When
the about distance is 200mm between screws of metal mounting bracket at the back of the TV
set.

Page 18: Parts Table

M6 x 14, 25, 40, 55, 75 Screw 14, 25, 40, 55, 75 M5 x 8, 25, 40, 55, 75 Screw M4x8 Screw
Specification Model: WAL14C Dimension: (W) 268mm (about distance at 200mm), 420mm
(spacer) 468mm (about distance at 400mm) 27mm (Wall bracket)



https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=12#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=13#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=14#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=15#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=16#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=17#manual
https://capturecode.com/manual/726961/Toshiba-Wal14c.html?page=18#manual

